
  

 

 

B.Com. DEGREE EXAMINATION —  
DECEMBER, 2019. 

First Year 

FINANCIAL ACCOUNTING 

Time : 3 hours Maximum marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Distinguish between Book Keeping and 
Accounting. 

 PnUS¨ £vÂ¯¾US®, PnUQ¯¾US® EÒÍ 

÷ÁÖ£õkPøÍ ÂÁ›UP. 

2. Explain the difference between Gross Profit and 
Net Profit. 

 ö©õzu »õ£zvØS® {Pμ »õ£zvØS©ÒÍ 

÷ÁÖ£õkPøÍ ÂÍUSP. 

3. Explain the rules for journalising transactions. 

 |hÁiUøPPøÍ •uØ SÔ¨÷£miÀ £vÁuØPõÚ 

ÂvPøÍ ÂÍUSP. 
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4. There is a tournament fund showing a credit 
balance of Rs. 50,000, on 1.1.03 in a Sports Club. 
During the year 2003, incomes to the fund 
amounting to Rs. 10,000 and tournament expenses 
Rs. 8,000. How this will appear in the final 
account of a club for the year ended 31st December, 
2003. 

J¸ ÂøÍ¯õmk {v°À ¹. 50,000 ÁμÄ C¸¨¦ 

1.1.03 À J¸ ÂøÍ¯õmkU PÇPzvÀ EÒÍx. 2003 

B® Bsk Á¸©õÚ® ¹. 10,000 ©ØÖ® 

ÂøÍ¯õmka ö\»ÄPÒ ¹. 8,000, 31.12.03 À •i²® 

CÖvU PnUQÀ CøÁ GÆÁõÖ Ch® ö£Ö®. 

5. A fire occurred in the premises of a company on 
15.10.97 from the following particulars, ascertain 
the loss of stock and prepare a claim for insurance. 

 Rs. 

Stock on 1.1.96 30,600

Purchases from 1.1.96 to 31.12.96 1,22,000

Sales from 1.1.96 to 31.12.96 1,80,000

Stock on 31.12.96 27,000

Purchases from 1.1.97 to 15.10.97 1,47,000

Sales from 1.1.97 to 15.10.97 1,50,000

The stocks were always valued at 90% of cost. The 
stock saved from fire was worth Rs. 18,000. The 
amount of policy was Rs. 63,000. There was an 
average clause in the policy. 
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J¸ {Ö©zvß PmihzvÀ 15.10.97 AßÖ w Â£zx 

HØ£mhx RÌUPõq® ÂÁμ[PÎ¼¸¢x \μUQß 

|mh® GßÚ Gß£øuU PnUQmk. Põ¨¥mk 

÷Põμ¾UPõÚ ÂÁμzøu²® u¯õº ö\´P. 

 ¹. 

1.1.96–À \μUQ¸¨¦ 30,600

1.1.96 •uÀ 31.12.96 Áøμ öPõÒ•uÀ 1,22,000

1.1.96 •uÀ 31.12.96 Áøμ ÂØ£øÚ 1,80,000

31.12.96 AßÖ \μUQ¸¨¦ 27,000

1.1.97 •uÀ 15.10.97 Áøμ öPõÒ•uÀ 1,47,000

1.1.97 •uÀ 15.10.97 Áøμ ÂØ£øÚ 1,50,000

\μUQ¸¨¦ G¨÷£õx® AhUP Âø»°À 90% GÚ 

©v¨¤h¨£mhx w Â£zv¼¸¢x «mP¨£mh \μUQß 

©v¨¦ ¹. 18,000  Põ¨¥k vmhõÁnzvß öuõøP  

¹. 63,000 Põ¨¥k vmhõÁn® \μõ\› ÂμzøuU 

öPõskÒÍx. 

PART B — (4  15 = 60 marks)  

Answer any FOUR questions. 

6. Explain the components of final accounts. 

CÖvU PnUSPÎß TÖPøÍ ÂÍUSP. 
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7. From the following Trial Balance prepare the 
Trading and Profit and Loss a/c for the year ended 
31st December 2000 and a balance sheet as at that 
date. 

Trial Balance of Ram as on 31.12.2000 
 Dr. 

Rs. 
 Cr. 

Rs. 

Capital  40,000

Sales  25,000

Purchases 15,000  

Salaries 2,000  

Rent 1,500  

Insurance 300  

Drawings 5,000  

Machinery 28,000  

Bank 4,500  

Cash 2,000  

Stock 5,200  

Debtors 2,500  

Creditors  1,000

 66,000  66,000

Adjustments required : 

(a) Closing stock on hand Rs. 4,000. 

 (b) Salaries owing Rs. 300. 

(c) Rent paid in advance Rs. 200. 
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 (d) Insurance paid in advance Rs. 900. 

 (e) Depreciate machinery by 10%. 

(f) During December Ram took Rs. 100 in goods 

for his own use. 

RÌPsh C¸¨¦a ÷\õuøÚ £mi¯¼¼¸¢x 31 

i\®£º, 2000 •iÁøh¢u BsiØPõÚ Â¯õ£õμ »õ£ 

|mhU PnUQøÚ²® A¢u ÷uv°À C¸¨¦{ø» 

SÔ¨¤øÚ²® u¯õ›UP. 

μõªß C¸¨¦a ÷\õuøÚ 31.12.2000 £i 

 £ØÖ 

¹. 

 ÁμÄ

¹. 

•uÀ  40,000

ÂØ£øÚ  25,000

öPõÒ•uÀ 15,000  

\®£Í® 2,000  

ÁõhøP 1,500  

Põ¨¥k 300  

Gk¨¦ 5,000  

C¯¢vμ® 28,000  

Á[Q 4,500  
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 £ØÖ 

¹. 

 ÁμÄ

¹. 

öμõUP® 2,000  

\μUS 5,200  

PhÚõÎPÒ 2,500  

PhÜ¢÷uõº  1,000

 66,000  66,000

÷uøÁ¯õÚ \›PmhÀPÒ : 

(A) CÖv \μUQ¸¨¦ ¹. 4,000 

(B) \®£Í® ö\¾zu ÷Ási¯x ¹. 300 

(C) ÁõhøP •ß Tmi ö\¾zv¯x ¹. 200 

(D) Põ¨¥k •ß Tmi ö\¾zv¯x ¹. 90 

(E) C¯¢vμ® «x ÷u´©õÚ® }UP ÷Ási¯x 10% 

(F) i\®£›À μõ® ¹. 100 \μUQøÚ uß ö\õ¢u 

£»ÝUPõP Gkzv¸¢uõº. 

8. From the following find out how much is to be 
shown in Income and Expenditure a/c for the year 
ending 31.12.1999 for subscription : 

(a) Subscription received during the year as per 
Receipts and Payment a/c Rs. 28,680. 

(b) Subscription outstanding on 1.1.99 Rs. 2,400. 
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(c) Subscription outstanding on 31.12.99  
Rs. 3,000. 

(d) Subscription received in advance on 1.1.99 
Rs. 1,800. 

(e) Subscription received in advance on 31.12.99 
Rs. 1,080. 

¤ßÁ¸® Â£μ[PÎ¼¸¢x 31.12.99 À•iÁøh²® 

BsiØPõÚ Á¸Áõ´ ö\»ÂÚU PnUQÀ \¢uõ 

öuõøP GÆÁÍÄ Põmh¨£h ÷Ásk®? 

(A) ö£ÖuÀ ö\¾zuÀ PnUQß £i ö£ØÓ \¢uõ  

¹. 28,680 

(B) 1.1.99 À Áμ÷Ási¯ \¢uõ ¹. 2,400 

(C) 31.12.99 À Áμ÷Ási¯ \¢uõ ¹. 3,000 

(D) 1.1.99 À •ßTmi ö£Ó¨£mh \¢uõ ¹. 1,800 

(E) 31.12.99 À •ßTmi ö£Ó¨£mh \¢uõ ¹. 1,080. 

9.  A manufacturing firm purchased, on 1st January 
1987, ascertain mill machinery for Rs. 19,400 and 
spent Rs. 600 on erection. On 1st July in the same 
year additional machinery costing Rs. 10,000 was 
acquired. on 1st July, 1989, the machinery 
purchased on 1st January, 1987, having become 
obsolete, was auctioned for Rs. 8,000. And on the 
same date fresh machinery was purchased at a 
cost of Rs. 15,000. Depreciation was provided 
annually on 31st December at the rate of 10% per 
annum on the original cost of the asset. 

Give the machinery account as it would stand at 
the end of each year from 1987 to 1991. Make your 
calculation to the nearest rupee. 
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J¸ u¯õ›¨¦ {ÖÁÚ® 1 áÚÁ› 1987 À J¸ Bø» 

C¯¢vμzøu ¹. 19,400 US Áõ[Q, {ÖÄÁuØS  

¹. 600 ö\»ÁÈUQÓx. ÷©¾® áüø» 1À A÷u 

Á¸hzvÀ ¹. 10,000 US C¯¢vμ® Áõ[Q¯x. 1989, 

áüø» 1À, Ax áÚÁ› 1, 1987À Áõ[Q¯ C¯¢vμ® 

ÁÇUöPõÈ¢uuõÀ ¹. 8,000 US H»zvÀ ÂØÖ, A÷u 

÷uv°À ¦v¯ C¯¢vμzøu ¹. 15,000 US Áõ[QÚõº 

JÆöÁõ¸ Á¸h•® 31 i\®£›À, 10% J¸ BskUS 

{ø»z uÁøn •øÓ°À ÷u´©õÚ® GÊu¨£kQÓx. 

1987 •uÀ 1991 Áøμ JÆöÁõ¸ Á¸h•® C¯¢vμU 

PnUøP u¯õ›zx öPõkUPÄ®. E[PÒ PnURmøh 

J¸ ¹£õ´US •Êø©¯õP ©õØÔU öPõÒÍÄ®. 

10.  A drew upon B several bill of exchange due for 
payment on different due dates as under : 

Date 
Amount 

Rs. 
Tenure 

02.10.95 600 3 months 

20.10.95 800 2 months 

10.11.95 1,000 3 months 

27.11.95 750 3 months 

08.12.95 900 1   month 

16.12.95 1,200  2 months 

Find out average due date on which payment may 
be made in one single amount. 



 UG-199 9

H, ¤ –°ß «x £À÷ÁÖ ÷uvPÎÀ £n® ö\¾zuzuUP 

©õØÖa ^mkPøÍ ¤ßÁ¸©õÖ Áøμ¢uõº. 

÷uv 
öuõøP 

¹. 
Põ»® 

02.10.95 600 3 ©õu[PÒ 

20.10.95 800 2 ©õu[PÒ 

10.11.95 1,000 3 ©õu[PÒ 

27.11.95 750 3 ©õu[PÒ 

08.12.95 900 1   ©õu® 

16.12.95 1,200  2 ©õu[PÒ 

J÷μ öuõøP¯õP £n® ö\¾zuzuUP \μõ\› uÁønz 

÷uvø¯U Psk¤i. 

11.  Mohan has the following transactions with Sohan 
for the period from 1st January to 30th June. Make 
out an account current to be rendered by Mohan 
on 30th June, calculating interest @ 5% p.a. 

  Rs. 
January 1 Balance due by Sohan 1,300
January 2 Sold goods to Sohan 1,600
February 15 Received cash from Sohan 2,500
March 5 Bought goods from Sohan 1,000
March  13 Issued a bill payable to Sohan at

2 months 500
April 10 Sold goods to Sohan 1,500
April 20 Received cash from Sohan 1,000
May 15 Sold goods to Sohan due end of June 1,200
June 15 Received cash from Sohan 300
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÷©õPß Gß£Áº ÷\õPß Gß£Á›h® áÚÁ› 1 •uÀ 

áúß 30 Áøμ RÌPõq® |hÁiUøPPøÍ 

øÁzxÒÍõº. ÷©õPß u¯õ›UPUTi¯ |h¨¦ PnUS 

JßøÓ áúß 30 AßÖ  5% Ámi J¸ Á¸hzvØS GÚU 

öPõsk u¯õ›UPÄ®. 

  ¹. 

áÚÁ› 1 ÷\õPÛhª¸¢x Áμ÷Ási¯ £õUQ 1,300

áÚÁ› 2 ÷\õPÝUS ÂØÓx 1,600

¤¨ 15 ÷\õPÛhª¸¢x ö£ØÓ öμõUP® 2,500

©õºa 5 ÷\õPÛhª¸¢x öPõÒ•uÀ ö\´ux 1,000

©õºa 13 ÷\õPÝUS 2 ©õu ö\¾zuØS›¯ 

©õØÖa^mk öPõkzux 500

H¨μÀ 10 ÷\õPÝUS ÂØÓx 1,500

H¨μÀ 20 ÷\õPÛhª¸¢x ö£ØÓ öμõUP® 1,000

÷© 15 ÷\õPÝUS (áúß Pøh]°À uÁøn

ÂØÓx) 

1,200

áúß 15 ÷\õPÛh® C¸¢x ö£ØÓ öμõUP® 300
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12.  From the following balance extracted from the 
books of Mr. Pasupathi, prepare Departmental 
Trading and Profit and Loss Account for the year 
ended 31st October, 1999 and a balance sheet as on 
that date. 

 Rs.  Rs. 
Capital  50,000
Buildings 12,500  
Furniture : Dept. A 2,500  
Opening stock : Dept. A 3,000  
 Dept. B 4,000  
Purchases : Dept. A 1,00,000  
 Dept. B 1,50,000  
Sales : Dept. A  2,00,000
 Dept. B  3,00,000
Audit fees 5,000  
Electricity 10,000  
Salaries 50,000  
Sales commission 30,000  
Carriage inwards 5,000  
Building rent 40,000  
Sundry debtors 20,000  
Sundry creditors  10,000
Drawings 28,000  
Cash in bank 1,00,000  

 5,60,000  5,60,000
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Additional Information : 

(a) Depreciate buildings by 5% and furniture by 
10% per annum. 

(b) Staff is employed in the ratio of 2 : 1. 

(c) Area occupied by cash department is equal. 

(d) Electricity consumption is in the ratio of 1 : 2. 

(e) Closing stock : 

  Dept. A Rs. 13,000 

  Dept. B Rs. 26,000 

(f) Audit fees be apportioned in the basis of 
turnover. 

v¸. £_£v°ß HkPÎ¼¸¢x GkUP¨£mh ¤ßÁ¸® 

Â£μ[PÎ¼¸¢x AU÷hõ£º 31–1999À •i²® 

BsiØPõÚ xøÓÁõ›¯õÚ Â¯õ£õμU 

PnUQøÚ²®, C»õ£ |mhU PnUQøÚ²® Az 

÷uv°ß £i¯õÚ C¸¨¦{ø»U SÔ¨¤øÚ²® u¯õº 

ö\´P. 

 ¹.  ¹. 

‰»uÚ®  50,000

Pmih® 12,500  

©øÚzxøn¨ ö£õ¸mPÒ: xøÓ A 2,500  

öuõhUPa \μUQ¸¨¦ :   xøÓ A 3,000  

   xøÓ B 4,000  
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 ¹.  ¹. 

öPõÒ•uÀ :   xøÓ A 1,00,000  

 xøÓ B 1,50,000  

ÂØ£øÚ : xøÓ A  2,00,000

 xøÓ B  3,00,000

uoUøPU Pmhn® 5,000  

ªß\õμ® 10,000  

Fv¯® 50,000  

ÂØ£øÚUPõP PÈÄ 30,000  

EÒ_ø©U T¼ 5,000  

Pmih ÁõhøP 40,000  

£Ø£» PhÚõÎPÒ 20,000  

£Ø£» PhÜ¢÷uõºPÒ  10,000

Gk¨¦ PnUS 28,000  

Á[Q°À öμõUP® 1,00,000  

 5,60,000  5,60,000

TkuÀ ÂÁμ[PÒ : 

(A) BsöhõsÔØS Pmihzvß «x 5% 

©øÚzxøn¨ ö£õ¸Ò «x 10% ÷u´©õÚ® 

ö\´P. 

(B) £o¯õÍºPÒ 2 : 1 GßÓ ÂQuzvÀ £o 

¦›QßÓÚº. 

(C) JÆöÁõ¸ xøÓ²® \©©õÚ Ch¨ £μ¨ø£²® 

ö£ØÖÒÍx. 
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(D) ªß\õμ® 1 : 2 GßÓ ÂQuzvÀ y´UP¨£kQÓx. 

(E) CÖva \μUQ¸¨¦ 

  xøÓ A : ¹. 13,000 

  xøÓ B : ¹. 26,000 

(F) uoUøPU Pmhn® ÂØ£øÚ ÂQuzvÀ 

£Qº¢uÎUP¨£kQÓx.  

———————— 



 

  

 

 

B.Com. DEGREE EXAMINATION —  
DECEMBER, 2019. 

First Year 

BUSINESS ORGANISATION 

Time : 3 hours Maximum marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. What are the characteristics of business? 

 Â¯õ£õμzvß ]Ó¨¦U TÖPøÍ TÖP. 

2. State the special privileges of a private company. 

 uÛ¯õº {Ö©zvß uÛ ö\¯À£õkPøÍ TÖP. 

3. Distinguish between company and partnership 
firm. 

 {Ö©zvØS® ©ØÖ® Tmhõsø© CÁØÔØS Cøh÷¯ 

EÒÍ ÷ÁÖ£õk ¯õx? 

 UG–198 BCO-11/
  BBCA-11



 

 UG–198 2

4. What are methods of raising of capital in a 
company? 

 J¸ {ÖÁÚzvß ‰»uÚ® E¯ºzu¨£k® •øÓPÒ 

£ØÔ TÖP. 

5. State the concept of government and business. 

 Aμ\õ[P•® ©ØÖ® Â¯õ£õμ•® & CUTØøÓ 

ÂÁ›UP. 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the salient features of sole proprietary 
concerns. 

 uÛ¯õº ÁoP {ÖÁÚzvß ]Ó¨¦U TÖPøÍ¨ £ØÔ 

ÂÁ›UPÄ®. 

7. Distinguish between memorandum of associations 
and articles of associations. 

 Aø©¨¦ \õ\ÚzvØS® \[P |øh•øÓ ÂvPÐUS® 

Cøh÷¯ EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

8. What are the legal importance before issue of 
prospectus of a company? 

 J¸ {ÖÁÚzvß uPÁÀ AÔUøP öÁÎ°k® •ßÚº 

AuÝøh¯ \mh •UQ¯zxÁ® £ØÔ TÖP. 
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9. What are the  steps taken before the meetings of 
BOD and share holders? 

 ÷©»õsø© C¯US|ºPÒ ©ØÖ® £[SuõμºPÒ 

CÁºPÐUS Cøh÷¯ J¸ Tmh® |øhö£ÖÁuØS 

•ßÚº EÒÍ £iPøÍ TÖP. 

10. What is dividends? Explain its various kinds. 

 £[S Buõ¯® GßÓõÀ GßÚ? Auß £À÷ÁÖ 

ÁøPPøÍ  ÂÁ›UPÄ®. 

11. What are public utilities? Explain its legal 
consequences before usage. 

 ö£õx ©UPÒ £¯ß£õmka ÷\øÁPÒ GßÓõÀ GßÚ? 

Aøu £¯ß£kzxÁuØS •ßÚº Pøh¤iUP 

÷Ási¯ \mh |øh•øÓPÒ £ØÔ TÖP. 

12. Explain the duties and responsibilities of company 
directors. 

 {Ö© C¯US|ºPÎß Pøhø©PÒ ©ØÖ® ö£õÖ¨¦PÒ 

£ØÔ ÂÁ›UP. 

—————— 




